ABRHS PHysics (CP) NAME:
Position and Velocity Graphing Practice

Position versus Time
Graph the following data on the grid below and answer the problems at the bottom of the page.
SHOW YOUR WORK! Remember{‘ g) correctly label each axis and title your graph.
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1. Bas‘,)ed on your graph, would you say that the velocity of This object 1s constant? Why or why
not?

No. These are 2 differont velodities  Gle (eat
a3 different Slopes

2. Without doing any calcultions, describe the motion in words.

wenk Frwaids 16 m tn (2 sec (withacnstant Spad), Then

stod Stillfor 5 secouds, then retmed b its S(Dfﬁﬂﬂ point witth

a different cmstant s peed.
3. Calculate the average velocity for this motion.

T-O0K _0-0_p m
Om/s!, 'TE"?_o’O/S

4. When was the object moving the fastest? How can you tell?

Fom b f 20 SCMMQS/ b[c it was e SWPZS'}'

5. Calculate the fastest speed from the motion, as well as its velocity.

Tt> the Slope @ Thew end:
Gz e - S spelis 4 "fs -

6. What is the instantaneous velocity at 6 seconds?

Tt is fue Sloptg the first par; 5o
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ABRHS PHysics (CP) NAME:
Position and Velocity Graphing Practice

Velocity versus Time
Plot the following data on the graph and answer the questions below. SHOW YOUR WORK.
Remember to correctly label and title your graph.
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1. According to your graph, is velocity constant? Why or why not?

\ | : = \ consiznt
0. Tt was chemging Fur the Firnt 8 fec i CAﬁ\o, £=8 , fwasa
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2. Without doing any calculations, describe the motion in words.

Object was incbally going backwards(V=-8mMc) T+ sfowed down ate comsnt
il ? 4 :

3. From a velocity graph, how can you determine the acceleration? 8 M‘{S/ (+ st 765 G Tht ve[o@'&
The SLOPE '
4. There are two accelerations you can calculate. Do that please.
Fom t=o tv £= 8> A= \’fj‘cli - 8 ‘&C‘@ - @ For £, & =)o ™s? \

5. What happens to the velocity every second between 0 and 8 seconds? How does that compare
to the acceleration you hopefully calculated in number 4?

Lt increngts by L ™Mfs. H&[‘.Ms The accelamfion:

6. What happens to the velocity every second between 8 and 20 seconds? How does that
compare to the acceleration you hopefully calculated in number 4?

¥ is cmsimt 50 4= 0 >

— 2

7. Was the object accelerating at t = 4 seconds? Explain your answer.

Yes i was! The Sm‘,)\/\ fereis o bine . At €= s
e Wocity was O Mg and The aagelerahim was 2 M|

Side 2



